## ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010

PROJECT NO. 6201 - Furnish, Haul and Spread approximately 360 cu. yds. of processed road gravel (22-A Modified) at TWO (2) locations in Allegan Township.

R. Smith & Sons	Location #1 = Location #2 =	120 cu. yds. 240 cu. yds.	@	\$13.82 \$13.82	=	\$1,658.40 \$3,316.80
				Total	=	\$4,975.20
Langlois & Sons	Location #1 = Location #2 =	120 cu. yds. 240 cu. yds.	@	\$13.95 \$13.95	= =	\$1,674.00 \$3,348.00
				Total	=	\$5,022.00
	Location #1 = Location #2 =	120 cu. yds. 240 cu. yds.	@		=	\$0.00 \$0.00
				Total	=	\$0.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6202 - Furnish, Haul and Spread approximately 2,500 cu. yds. of processed road gravel (22-A Modified) at three (3) locations in Casco Township.

R. Smnith & Sons	Location #1 = Location #2 = Location #3 =	500 cu. yds. 1,000 cu. yds. 1,000 cu. yds.	@       \$14.79         @       \$14.79         @       \$14.79	= = =	\$7,395.00 \$14,790.00 \$14,790.00
			Total	=	\$36,975.00
	Location #1 = Location #2 = Location #3 =	500 cu. yds. 1,000 cu. yds. 1,000 cu. yds.	@ @	= = =	\$0.00 \$0.00 \$0.00
			Total	=	\$0.00
	Location #1 = Location #2 = Location #3 =	500 cu. yds. 1,000 cu. yds. 1,000 cu. yds.	@ @	= = =	\$0.00 \$0.00 \$0.00
			Total	=	\$0.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6208 - Furnish, Haul and Spread approximately 4,350 cu. yds. of processed road gravel (21-AA) at three (3) locations in Gun Plain Township.

Stoneco (alternate bid for 21-AA)	Location #1 = Location #2 = Location #3 =	1,750 cu. yds. 1,000 cu. yds. 1,600 cu. yds.	@ @ @	\$14.93 \$15.53 \$16.13	= = =	\$26,127.50 \$15,530.00 \$25,808.00
				Total	=	\$67,465.50
R. Smith & Sons	Location #1 = Location #2 = Location #3 =	1,750 cu. yds. 1,000 cu. yds. 1,600 cu. yds.	@ @	\$26.21 \$26.21 \$26.21	= = =	\$45,867.50 \$26,210.00 \$41,936.00
				Total	=	\$114,013.50
	Location #1 = Location #2 = Location #3 =	1,750 cu. yds. 1,000 cu. yds. 1,600 cu. yds.	@ @ @		= = =	\$0.00 \$0.00 \$0.00
				Total	=	\$0.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6216 - Furnish, Haul and Spread approximately 1,000 cu. yds. of processed road gravel (22-A Modified) at one (1) location in Monterey Township.

R. Smith & Sons	Location #1 =	1,000 cu. yds.	@	\$14.21	=	\$14,210.00
				Total	=	\$14,210.00
Langlois & Sons	Location #1 =	1,000 cu. yds.	@	\$14.30	=	\$14,300.00
				Total	=	\$14,300.00
	Location #1 =	1,000 cu. yds.	@		=	\$0.00
				Total	=	\$0.00

#### ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010

PROJECT NO. 6221 - Furnish, Haul and Spread approximately 1,250 cu. yds. of processed road gravel (22-A Modified) at three (3) locations in Trowbridge Township.

R. Smith & Sons	Location #1 = Location #2 = Location #3 =	500 cu. yds. 500 cu. yds. 250 cu. yds.	@ \$12	2.90 = 2.90 = 2.90 =	\$6,450.00 \$6,450.00 \$3,225.00
			Total	=	\$16,125.00
Brewer's City Dock	Location #1 = Location #2 = Location #3 =	500 cu. yds. 500 cu. yds. 250 cu. yds.	@ \$13	3.00 = 3.00 = 3.00 =	\$6,500.00 \$6,500.00 \$3,250.00
			Total	=	\$16,250.00
Langlois & Sons	Location #1 = Location #2 = Location #3 =	500 cu. yds. 500 cu. yds. 250 cu. yds.	@ \$13	3.95 = 3.95 = 3.95 =	\$6,975.00 \$6,975.00 \$3,487.50
			Total	=	\$17,437.50

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6222 - Furnish, Haul and Spread approximately 1,350 cu. yds. of processed road gravel (22-A Modified) at two (2) locations in Valley Township.

Brewer's City Dock	Location #1 = Location #2 =	750 cu. yds. 600 cu. yds.	@	\$12.85 \$12.85	= =	\$9,637.50 \$7,710.00
				Total	=	\$17,347.50
R. Smith & Sons	Location #1 = Location #2 =	750 cu. yds. 600 cu. yds.	@	\$13.82 \$13.82	=	\$10,365.00 \$8,292.00
				Total	=	\$18,657.00
	Location #1 = Location #2 =	750 cu. yds. 600 cu. yds.	@		=	\$0.00 \$0.00
				Total	=	\$0.00

#### ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010

PROJECT NO. 6224 - Furnish, Haul and Spread approximately 3,250 cu. yds. of processed road gravel (22-A Modified) at four (4) locations in Wayland Township.

Stoneco	Location #1 = Location #2 = Location #3 = Location #4 =	630 cu. yds. 750 cu. yds. 1,050 cu. yds. 820 cu. yds.	@       \$12.60         @       \$12.60         @       \$12.38         @       \$12.08	= = = =	\$7,938.00 \$9,450.00 \$12,999.00 \$9,905.60
			Total	=	\$40,292.60
R. Smith & Sons	Location #1 = Location #2 = Location #3 = Location #4 =	630 cu. yds. 750 cu. yds. 1,050 cu. yds. 820 cu. yds.	@ \$14.79 @ \$14.79 @ \$14.79 @ \$14.79	= = = =	\$9,317.70 \$11,092.50 \$15,529.50 \$12,127.80
			Total	=	\$48,067.50
	Location #1 = Location #2 = Location #3 = Location #4 =	630 cu. yds. 750 cu. yds. 1,050 cu. yds. 820 cu. yds.	@ @ @ @	= = = =	\$0.00 \$0.00 \$0.00 \$0.00
			Total	=	\$0.00